
S
C

H
É

M
A

P
O

L.
C

E
L

K
E

M
P

O
P

IS

T
1

O
b

je
kt

1.
N

P

V
E

LI
K

O
S

T
: 9

00
/1

97
0
 m

m
P

O
P

IS
: D

Ř
E

V
Ě

N
É

 V
N

IT
Ř

N
Í J

E
D

N
O

K
Ř

ÍD
LO

V
É

 D
V

E
Ř

E
, H

L
A

D
K

É
, P

L
N

É
   

   
   

   
 K
Ř

ÍD
LO

 O
T

O
Č

N
É

,
P

O
V

R
C

H
 K
Ř

ÍD
L
A

: L
A

M
IN

Á
T

, B
A

R
V

A
 B

ÍL
Á

Z
Á

R
U

B
E
Ň

: 
O

C
E

L
O

V
Á

, 
N

Á
T
Ě

R
Z

Á
M

E
K

: 
B

E
Z

P
E
Č

N
O

S
T

N
Í 
V

LO
Ž

K
A

K
O

V
Á

N
Í: 

K
LI

K
A

 -
 K

LI
K

A

P
O

Z
N

Á
M

K
A

: 
D

V
E
Ř

E
 B

U
D

O
U

 Z
 V

N
Ě

JŠ
Í 
S

T
R

A
N

Y
 O

P
A

T
Ř

E
N

Y
 M

A
D

LE
M

 
V

E
 V

Ý
Š

C
E

 1
00

0 
m

m
 

T
2

1
1

1
1

V
E

LI
K

O
S

T
: 9

00
/1

97
0
 m

m
P

O
P

IS
: D

Ř
E

V
Ě

N
É

 V
N

IT
Ř

N
Í J

E
D

N
O

K
Ř

ÍD
LO

V
É

 D
V

E
Ř

E
, H

L
A

D
K

É
, P

L
N

É
   

   
   

   
 K
Ř

ÍD
LO

 O
T

O
Č

N
É

,
P

O
V

R
C

H
 K
Ř

ÍD
L
A

: L
A

M
IN

Á
T

, B
A

R
V

A
 B

ÍL
Á

Z
Á

R
U

B
E
Ň

: 
O

C
E

L
O

V
Á

, 
N

Á
T
Ě

R
Z

Á
M

E
K

: 
B

E
Z

P
E
Č

N
O

S
T

N
Í 
V

LO
Ž

K
A

K
O

V
Á

N
Í: 

K
LI

K
A

 -
 K

LI
K

A

P
O

Ž
Á

R
N

Í O
D

O
L

N
O

S
T

: 
E

I 3
0 

D
P

3-
C

-S
m

 
(S

A
M

O
Z

A
V

ÍR
A
Č

 +
 K

O
U
Ř

O
T
Ě

S
N

É
)

T
3

1
1

1
1

T
4

D
Ř

E
V
Ě

N
É

 O
K

N
O

 9
00

/9
00

 m
m

, E
U

R
O

 P
R

O
F

IL
O

T
E

V
ÍR

A
V

É
 A

 S
K

L
O

P
N

É
,

P
O

V
R

C
H

O
V

Á
 Ú

P
R

A
V

A
: N

Á
T
Ě

R
 K

R
Y

C
Í -

 B
A

R
V

A
 B

ÍL
Á

N
E

R
E

Z
O

V
Ý

 D
IS

T
A

N
Č

N
Í 
 R

Á
M

E
Č

E
K

,
K
Ř

ÍD
LA

 Z
A

S
K

LE
N

Á
 I
Z

O
LA

Č
N

ÍM
 D

V
O

JS
K

LE
M

 4
+

16
+

4
H

O
D

N
O

T
A

 S
O

U
Č

IN
IT

E
L
E

 P
R

O
S

T
U

P
U

 T
E

P
LA

 D
V

O
JS

K
LO

 U
n
=

0
,9

-1
,0

 W
/m

2K
H

O
D

N
O

T
A

 S
O

U
Č

IN
IT

E
L
E

 P
R

O
S

T
U

P
U

 T
E

P
LA

 P
R

O
 O

K
N

O
 U

 =
 1

,2
 W

/m
2K

K
LI

K
Y

 O
K

E
N

N
Í H

L
IN

ÍK
O

V
É

, B
A

R
V

A
 B

Á
LÁ

H
O

D
N

O
T

A
 V

Z
D

U
C

H
O

V
É

 N
E

P
R
Ů

Z
V

U
Č

N
O

S
T

I R
w

 =
 3

2
 d

B
 

P
R

O
S

K
LE

N
Á

 H
L
IN

ÍK
O

V
Á

 S
T
Ě

N
A

 1
8
00

/2
10

0
 m

m
  S

 D
V

O
U

K
Ř

ÍD
L
O

V
Ý

M
I 
D

V
E
Ř

M
I,

K
O

N
S

T
R

U
K

C
E

 S
 P
Ř

E
R

U
Š

E
N

Ý
M

 T
E

P
E

LN
Ý

M
 M

O
S

T
E

M
, 

K
Ř

ÍD
LA

 8
00

/2
0
00

 m
m

  Č
Á

S
T

E
Č

N
Ě

 P
R

O
S

K
LE

N
Á

, 
N

E
R

E
Z

O
V

Ý
 D

IS
T

A
N
Č

N
Í 
 R

Á
M

E
Č

E
K

, B
A

R
V

A
 R

Á
M

U
 A

 K
Ř

ÍD
E

L 
T

M
A

V
Ě

 H
N
Ě

D
Á

Z
A

S
K

L
E

N
Í D

V
E
Ř

Í: 
IZ

O
LA

Č
N

Í D
V

O
JS

K
LO

 O
B

O
U

S
T

R
A

N
N

É
 4

+
16

+
4

H
O

D
N

O
T

A
 S

O
U
Č

IN
IT

E
L
E

 P
R

O
S

T
U

P
U

 T
E

P
LA

 P
R

O
 IZ

O
LA

Č
N

Í D
V

O
JS

K
L
O

 
U

g
=

0
,9

-1
,0

  W
/m

2
K

, P
LN

Á
 Č

Á
S

T
 P

U
R

 V
Ý

P
LŃ

 4
0 

m
m

H
O

D
N

O
T

A
 S

O
U
Č

IN
IT

E
L
E

 P
R

O
S

T
U

P
U

 T
E

P
LA

 P
R

O
 P

E
V

N
O

U
 V

Ý
P

LŇ
 U

g=
0,

9-
1,

0 
W

/m
2K

,
V

Ý
S

LE
D

N
Á

 H
O

D
N

O
T

A
 S

O
U
Č

IN
IT

E
LE

  
P

R
O

S
T

U
P

U
 T

E
P

LA
 

P
R

O
 C

E
LO

U
 S

T
Ě

N
U

 U
=

1
,2

 W
/m

2
K

Z
Á

M
E

K
: 
B

E
Z

P
E
Č

N
O

S
T

N
Í 
V

LO
Ž

K
A

, 
K

O
V

Á
N

Í: 
K

LI
K

A
 -

 K
O

U
LE

 (
M

A
D

LO
) 

H
O

D
N

O
T

A
 V

Z
D

U
C

H
O

V
É

 N
E

P
R
Ů

Z
V

U
Č

N
O

S
T

I R
w

 =
 3

2
 d

B

1970
9
00

LEVÉPRAVÉ

1970

9
00

LEVÉPRAVÉ

2100
2000

80
0

8
00

18
0
0

90
0

900

IZ
O

LA
Č

N
Í Z

A
S

K
LE

N
Í

P
E

V
N

Á
 V

Ý
P

LŇ


